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QUESTION 1

Click the Exhibit button. 

Referring to the exhibit, which two statements are true regarding Q-in-Q tunneling? (Choose two.) 

A. The C-VLAN traffic will be encapsulated with an outer VLAN tag of 150. 

B. The C-VLANs 100-200 will be sent as the inner VLAN tag. 

C. The C-VLAN 150 will be sent as the inner VLAN tag. 

D. The C-VLAN traffic will be encapsulated with an outer VLAN tag of 10. 

Correct Answer: BD 

 

 

QUESTION 2

Click the Exhibit button. 
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There is a functioning OSPFv3 neighborship between Router-1 and Router-2 over the ge-0/0/1 link. However, the
172.100.100.0/24 and 172.101.101.100/24 routes are not being shared through OSPFv3. 

Referring to the configuration shown in the exhibit, which two actions must you take to solve the problem? (Choose
two.) 

A. Add interface ge-0/0/1 under the IPv4 unicast realm for both routers. 

B. Add the IPv6 family protocol under ge-0/0/2 for both routers. 

C. Add the lo0 interface under OSPFv3 for both routers. 

D. Add interface ge-0/0/2 under OSPFv3 for both routers. 

Correct Answer: AB 

 

 

QUESTION 3

You are currently using VLAN IDs 2 through 300 within your Layer 2 domain and you need to configure VSTP to prevent
loops. You must ensure that all VLANs are loop free. 

In this scenario, which statement is correct? 

A. You must ensure that the VLANs are balanced between two different root bridges. 

B. You must enable RSTP to account for all VLANs. 

C. You must ensure that the bridge priority is set to the lowest value on all switches in the Layer 2 domain. 

D. You must enable all VLANs, 2 through 300, under the VSTP configuration. 

Correct Answer: D 

 

 

QUESTION 4

Click the Exhibit button. 
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The policy shown in the exhibit is applied as an export policy to your BGP neighborship. Which action will be taken for
route 12.233.45.5? 

A. It will rejected by term 2. 

B. It will be accepted by term 1. 
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C. It will be accepted by the default policy. 

D. It will be evaluated by the next policy. 

Correct Answer: B 

 

 

QUESTION 5

Which protocol is a multicast routing protocol? 

A. OSPF 

B. BGP 

C. PIM 

D. IS-IS 

Correct Answer: C 
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